
 Reosco x
sin ATB sinacosB cosAsinB
Sin A B sin A cosB cosAsinB

Cos ATB COSAcosB sin AsinB

Cos A B cos AcosB t sinasinB

F
5 sins Ecosoc 3

for g 589ft sina Eg cosx 3

589 scn x L where ta a If
189 Sir x 58.00 3

4 58 00

Sin x 58 o 3

58g i'Ffg H

S A
X 5800 18 50 161 50 185 18 5

c 18.5 58 0 161 5 158 o T c

x 76 50 219 5

Exit
45in e t 12 cos c 8

sins t Kosa 2

To 3 to sina t Cosa 2
a r
I



Tosin xxx z where tuna

Tosin x 171.64 2
4 71.60

sin x 71 6 Sii 39.2

X t 71.60 39.20 140.80 S A

39a 39.2
x 39.2 71 6 140.8 21.6

K 32.40 69.20 T C

360

x 327.60 69.20

Alternative Method
sins t 3cosse 2

3cosa t Isin c 2

Fo JTof o cosset sax 2
I

t s
3 to cos x L 2 where tuna

2 1840Focus x 18 a 2

cos x 18 4 cos Zo 50 8

s A
C 1840 50 80 309.2 50.8

50.8
X I 50 8 18 4 309.2 18 4 y c



x 69.20 327.60

5 f coso Emo

5 i 5 cos Q L where ta a I
4 3

a r
J L O 927 rad

5 cos Q O 927

f o 7 t 5cos O o 927

Range 7 5 E f G E 7 5

Z E Fco E 2

Max I I I
7 15Cusco o au T 5 2



Homework


